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Jjhe test-Statistic will be,
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Problems -

3 by the
disevice - From @ Sample Survey conducted ©Y
iseEvict -

Head office , the [jOHouJ'fng ‘
éigniﬁfcant d|6

vosulte tere obtained . State

Eerence in the
w hethey +here & any

leg rren :
he two 8A
avevage Sales betuween o

A B

Number of Sales 20 18

Average Sales (in RS ) 130 0%

Standard Deviation (in 20 g
Rs )
Solution :
B
Giiven: n, = 20 , Ny = 18
i_’ — l’:l’o 3 xg = 05
= S
BDij = Q0 i Sa

4. . “ThReve is no Aigni&%cant di&ﬁerence
s 3

6 +he two ~Sales men |

Wall e ®

o ~Sales ©
i'e'/ Ho : Hl = Hz
H, * Piﬁ& H:L
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Alternative hgjfothesis :
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B = 2_9_._13_)

|Fo — A0S

23.12 F,’JZ
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=

i

23.1a X 0.34s

iltl = 4.b% }

—Table value :

AE oo o Lok p W= T ~2 = 3§ deo.F,

the -able value of £ 18 8'rven by ,

EED

Since 1t).» kg , Ho

Hence the two ~5alesmen dftﬁe” 5'3”;6"C0”tf)'

Decision -

is Yejected .

toith -faga'rd to -their avevage ~sales
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Given : n, =16 , Na =12
X, =Q3.4 , X3 = 849
S T R.5 4 Sg = .8
:\L\q il‘im.’.’_f_%f;‘:-'l H, : There i3S ho ,15?3:1}6-icant diééerena

means .-, Hy * M = Ha
H, = o Pa ( Two-tailed test)
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Alteynative h g R&«mesi 5
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53 e - 445
ERERID
b e 2B =~ 249
A T
. %38 [ 1 _+1
l6 12
- l T
10433
Lﬂﬂ = 1.43187
“Taple value ;
At £ = F 4 log ;- Ve H4h=2 = leF@ -2

Yo A% d.g:-f i the able value og + e 9Fven by ,

J%x = a.ﬂij

“Decision :
Brows dbf 2 &p 3-Ha 2 accepted .

o= ~Thé diﬁgevence tg. ok fél'gniﬁ—ican(:.

@ A gvoup 06 0 8ats w{;‘ld on diet A and Quno they
group o[) g vats oh ﬁ-ed on diet B , Secorded
the E—ollou.)'rn? hctaeage in weight (gms) .

Diet A - 5 , b, 85 by 12 5-d g B Ts byl

Diet B - 2,3,{,,8,10,;,2,3

o - 2 : . : $ ] "/ = i s - : s G o s 3 . _g
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“Does it -Show /fxuper}mit-tf o£ diet A over diet B ’

Golution :

N A

Hiiven @ W, = 10

Null W : Hp : Theve i& ho ré!ﬂnfﬁicaf'lt
diﬁf)emnce in increase 06 weights . (-2 Ho = My = P2

Lindcoha is = : ( Right tailed test)
Altevnative hypotheSis - H, 3 HFi ™ Ha iq

ample $: D= :
Caleulation % Sample means w Samps S

— ( 5—1;) = Wia = feay = iz
n, n, 10 =

= 0.3d%

2 2
g s L (511) - T- T R 4
LIPS 1)

Test . Statistic «
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t = L.4

3.395 j_i_ = 1.
lo 8

- l. 4

- 6lo
£ = D«-869%
Eﬁlﬁ\f&lue:
At & = 5 ¢ Los , Vow My=ly=32 = 14 d04,

+he Htable value D{) £ is given by ,

EREL|

"Decision :
Since t <t, , Ho 18 accepted . Hence e
to

Cannot Conclude -that diet A 1c ~Supeior

- diet B -
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